
 
 

PHILOSOPHY 

B.A 3
rd

 Semester (Honours) Examination, 2021 

Course ID: 30614                                                                Course Code: AH/PHI/304/GE-3 

Course Title: Western Logic  

Time:  2 Hours                                                                                                  Full Marks: 40 

The figures in the margin indicate full marks. 

Candidates are required to give their answers in their own words as for as practicable. 

দক্ষিণ প্রান্তস্থ সংখ্যাগুক্ষি প্রশ্নের পূণণমাশ্নের ক্ষেশ্নদণশক। 

পরীিার্ণীশ্নদর যর্াসম্ভব ক্ষেশ্নের ভাষায় উত্তর ক্ষদশ্নে হশ্নব। 

1. Answer any five of the following questions:            2x5=10 

ক্ষেম্নক্ষিক্ষখ্ে যয যকাে পাাঁচক্ষি প্রশ্নের উত্তর দাও:                                       

a) What is argument form? 

যুক্ষির আকার কাশ্নক বশ্নি? 

b) What is non-empty class? 

অ-শূণযশ্নেক্ষণ কাশ্নক বশ্নি? 

c) Give the truth table of ‘ ~~P’ 

‘~~P’   এই বচেক্ষির সেযসারক্ষণ দাও 

d) What is mediate inference? 

মাধ্যম অেুমাে কী ? 

e) What is the contradictory proposition of “Some men are Selfish”? 

‘যকাশ্নো যকাশ্নো মােুষ হয় স্বার্ণপর’-এর ক্ষবরুদ্ধ বচেক্ষি কী? 

f) Represent with Venn diagram: “Not all flowers are red” 

যভেক্ষচশ্নে প্রকাশ কর: “সব ফুি িাি েয়” 

g) When is a deductive argument valid?  

একক্ষি অবশ্নরাহ যুক্ষি কখ্ে ববধ্ হয়? 

h) Obvert the following: Nothing is both round and square. 



 
 

ক্ষববক্ষেণে কর: যকাে ক্ষকছুই যুগপৎ যগািাকার ও বগণাকার েয়। 

2. Answer any four of the following questions:                                  5x4=20 

ক্ষেম্নক্ষিক্ষখ্ে যয যকাে চারক্ষি প্রশ্নের উত্তর দাও:                                     

a) Use truth-table to determine the validity of the following arguments: 

সেযসারক্ষণর সাহাশ্নযয ক্ষেম্নক্ষিক্ষখ্ে যুক্ষিক্ষির ববধ্ো ক্ষবচার কর:      

If today is Monday or Tuesday, then we have no Logic class. If today is Monday and we have 

Logic class, then today is not Tuesday. Therefore if we have no logic class, then today is not 

Monday. 

যক্ষদ আে যসামবার অর্বা মঙ্গিবার হয়, োহশ্নি আমাশ্নদর েকণক্ষবদযার ক্লাস যেই। যক্ষদ আে যসামবার হয় এবং 

আমাশ্নদর েকণক্ষবদযার ক্লাস র্াশ্নক, েশ্নব আে মঙ্গিবার েয়। অেএব যক্ষদ আমাশ্নদরর েকণক্ষবদযার ক্লাস ো র্াশ্নক, 

েশ্নব আে যসামবার েয়। 

b) What is standard form of Categorical Syllogism? Name the fallacies committed and the rule 

violated by the following syllogistic form:       2+3 

AAA-4                   

আদশণ আকাশ্নরর ক্ষেরশ্নপি েযায় কাশ্নক বশ্নি? ক্ষেশ্নচর েযাশ্নয়র আকারক্ষিশ্নে যয যদাষ ঘশ্নিশ্নছ ো বি এবং ববধ্ 

েযাশ্নয়র যকাে ক্ষেয়ম িক্ষিে হশ্নয়শ্নছ ো উশ্নেখ্ কর: 

AAA-4 

c) Explain with examples the distinction between contrary and sub-contrary oppositions. 

উদাহরশ্নণর সাহাশ্নযয ক্ষবপরীে ক্ষবশ্নরাক্ষধ্ো ও অধ্ীে ক্ষবপরীে ক্ষবশ্নরাক্ষধ্োর মশ্নধ্য পার্ণকয বযাখ্যা কর। 

d) Test the validity of the following argument by means of Venn Diagrams He will pass 

examination, for he is intelligent and only intelligent students pass the examination. 

যস পরীিায় পাস করশ্নব, কারণ যস বুক্ষদ্ধমাে এবং যকবিমাে বুক্ষদ্ধমাে ছােরাই পরীিায় পাস কশ্নর। 

e) What is ‘the fallacy of four terms’? Give an Example.      3+2 

‘চাক্ষরপদ ঘক্ষিে যদাষ’ ক্ষক? একক্ষি উদাহরণ দাও।      

f) What is meant by ‘distribution’ of a term? Why do only universal propositions distribute their 

subject terms?            2+3 

পশ্নদর বযাপযো বিশ্নে ক্ষক যবাঝায়? যকবিমাে সাক্ষবণক বচেগুশ্নিাই োশ্নদর উশ্নেশয পদশ্নক বযাপয কশ্নর যকে? 

3. Answer any one of the following questions:                     10x1=10 

ক্ষেম্নক্ষিক্ষখ্ে যয যকাে একক্ষি প্রশ্নের উত্তর দাও:                                      

a) Identify figures and mood by changing each of the following arguments to a logical form and 

explain what went wrong if invalid:       5+5 



 
 

ক্ষেম্নক্ষিক্ষখ্ে যুক্ষিগুক্ষির প্রক্ষেক্ষিশ্নক যুক্ষিক্ষবজ্ঞােসম্মে আকাশ্নর পক্ষরবক্ষেণে কশ্নর সংথাে এবং মূক্ষেণ ক্ষেণণয় কর এবং 

অববধ্ হশ্নি কী যদাষ ঘশ্নিশ্নছ বযাখ্যা কর: 

(i) As you are not a graduate, you are not fit for this job. 

যযশ্নহেু েুক্ষম স্নােক েও, েুক্ষম এই চাকক্ষরর যযাগয েও। 

(ii) Politicians never speak the truth, because no honorable persons are politicians and all 

speakers of the truth are honorable persons. 

রােেীক্ষেক্ষবদরা কখ্শ্নো সেয কর্া বশ্নিে ো, যযশ্নহেু গেযমােয যিাক যকউই রােেীক্ষেক্ষবদ েে, আর 

যারা সেয কর্া বশ্নিে োাঁরা সকশ্নিই গেযমােয যিাক। 

b) Explain the rules of Syllogism with examples according to I.M. Copi. 

আই. এম. যকাক্ষপ ক্ষেরশ্নপি েযাশ্নয়র ববধ্োর যয ক্ষেয়ম উশ্নেখ্ কশ্নরশ্নছে যসগুক্ষি উদাহরণ সহশ্নযাশ্নগ বযাখ্যা কর। 

c) Test the validity of the following arguments by means of Venn-diagram:   5+5 

                 ¢ejÀ¢m¢Ma k¤¢š²…¢ml       ¢hQ¡l Ll: 

(i) All men are liable to error. Saints being men are liable to error. 

phj¡েুশ্নষর ï¡¢¿¹l pñ¡he¡ আশ্নছ, p¡d¤l¡ j¡e¤o qJu¡u োশ্নদরও ï¡¢¿¹l pñ¡he¡ আশ্নছ। 

(ii) Communists are patriots and Marxists. Therefore some patriots are Marxists. 

p¡jÉh¡c£l¡ যদশশ্নপ্রক্ষমক J j¡LÑph¡c£z AaHh যকাে যকাে যদশশ্নপ্রক্ষমক qu j¡LÑph¡c£z 


